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101

102.

103.

104.

105.

FEngieh]

U - A (STafagr : arvafafer™ )

3ﬁwaﬁaﬁu§m Ieaduit @i enfremar 3R
el SR ST F 70% B Al Qs Y fore wAH
YR ST © 2

Q)  Iplas wfer &=
@ i Sy

@ Sofefaum g wie
@ & srifes &

frreaferfiad ¥ Q 9, frder well @ e Al 3R
91 ot 3 R SRR e S ?

o wRIE @ @

@) R (4) R
@Wﬁwﬁmémqw@m%@

e P S TR oy SR B ¥ 1 I
HEA §

(1)  9Ed AIHA @ T |
@) uidEEE & @ ori®d
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S 11 - TS SR B e el ol e A
B

e el 3 el B 9 fed foreredl # LFE S

gHT :

(1) O 1 E Y O I A
0 w1 o TG RN TAE
®) a;mlaﬁ?ﬁmllﬁﬂ?q%

@) S 1 SRR 11 3 T €
e e i s Sftmn ¥ Freffan 4
et e A 82 o
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C1
Section - A (BIOLOGY : BOTANY)

101. The regions with high level of species richness, high

degree of endemism and a loss of 70% of the species
and habitat are identified as :

)
@
OX
@)

Natural Reserves

Sacred Groves
Biodiversity Hotspots
Biogeographical Regions
102.  Which of the following simple tissues are commonly
found in the fruit walls of IWY ?
Q Sclereids (2) Fibres

(3) 4) Collenchyma

Parenchyma

103. Inachromosome, there is a specific DNA sequence,

responsible for initiating replication.. It is called
as:

@
®)

cloning site

@

@) orisite

recognition sequence

restriction site

104. Given below are two statements :

Statement I: When many alleles of a single gene /
govern a character, itis called polygenic inheritance. %~

Statement I1: In Polygenic inheritance, the effect of
each allele is additive.

In the light of the above statements, choose the correct
answer from the options given below.

m
@
0,
@

Statement 1 is true but Statement Il is false
Statement 1 is false but Statement Il is true
Both Statement I and Statement Il are true ,
Both Statement I and Statement II are false

105. Which of the following are required for the light

reaction of Photosynthesis ?
A CO, V7 B.
c HO VY D.
B Light V7

0, ¥

Chlorophyll WV~

Choose the correct answer from the options given
below :

\.a(' A,C,D and E only
2) C DandEonly
(3 AandBonly R
4 A, CandEonly ¥
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G |
L tch List-1 with List-11:
106. GE-11eh-11 & gafer FRT: 106 Mat List-11 411.
X ge-11 A Fleming L Disc shaped sacs q,
A X : N > ik : cisternae near cel|
' 3 ucleus
fareap TR b e = " .
B Robert p.  Chromatn
. K Brown
B UeEwed I e .1 ¢ George m  Ribosomes
c ey m T T Palade
D il v 3 D. (G;Z[f;llo 1v. Nucleus
oSl : Choose the correct answer from the options given
ﬁﬁﬁ@m@ﬁ@@wﬁ: I below:
1)  ALBIV,CGIL D 7). AJLBIV,CIL D-I
@) AJILBICLDIV @ AL B, C-L, D-IV 12
(3) ALBICILDIV @ ALBILCIL DIV
@  AIV,BILCIL DI @ AIV,BILCILDI
107. ;g:ﬁ—laaqsﬁ-n@g&maﬁfaq: 107. Match List-I with List-II:
-1 ge-11 \ List-I List-II 11
S P;I‘yplen of Inhleritance Example
T8 ) complete L
A &gol gerfod I OFaE @R o domin}:nce Efli%ra?\ups
B. T guIfaal L T=fe7 § g TTI B. Co-dominance I. Flower 2
C. s yfem o e e colour in
o - = Antirrhinum 11
' Tget mil ﬂU” =t C. Pleiotropy I Skin
13 o e 8 9wl SR - e
(1) ATLBIV,CI,D-I D. Pol i -
PRV : ygenic v. i
@  AILBLCIV,DII inheritance Hiexyl cetorucis
() AJLBILCILD-IV Choose the corr o
4 ’ , t ® 3
@ AIV,BLCILDE o ect answer from the options given
N 1)  A-JILB-
108. SISIUE Sl & 91 YT O ) . ( ,B-IV,C1I, D-1
kit e @ veiel w1 deru @< ALBI,CIV, DI
0 . 3) AJI,BILCILDIV
s @ TR @ AIV,BLC
@) et . o
@) diSisId 108. Which part of the ovul i
109. Frefafead materials ? ule stores reserve food |
H?H Th, Wﬁ (aﬂm . S e
EERIRISIRI ) ‘L . ('1( )~ Nucellus @ .
B (o 3 tegumant
(1) = i {h ). Flacent W e
@ e e, | 109 g
@) @it @ e == Which one of the following i
4 5 == E;YmnosPermN owing 1s not found in 3
. Trefafed § § $F & weom @ OF" sicvlid
ey & = ve cells
%7 Ed il ﬁéf{::sﬁ (3) Tl'acheids ﬁ;/ Albuminous cells ‘
1) I S9 SYIRTY “310. Whi Vessels
,::T : l.Ch one of the followine i
@ - Teafdeh ST m-situ conservation ? WIng is not included und®”
@) Savisd wif@ & Qz;,, ;V‘ld-I.Ife sanctuary
@ RUSIRRCD b .OtamCal garden
()  Biosph
4 P ere reserve
( ) Nat_[()nal
park

il ‘
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112 ROT S, STAHl % w9 F ferwent Suftddl & T
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(1) e @ e
@) SR Ed @ sfa =
113. TN T8 1 AT :
1)  ewEee - afeg=g
@ e - srEreRY
@) WS . argened -
@) gl - RISfTeT -
114. ﬁw@f@aﬁ@wwwﬁﬂamw%l
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@ EREEy @WW
faasizar :
@) AR wﬁmﬂmﬁﬂm
@
@ RSPE gFagien, i, ufeden
115. m(a@ﬂaﬁaﬁ)ﬁmmqqﬁm%
ﬁwﬁﬂ%amﬁiﬁﬂﬁ%.
HYF I : THfEEE f R T T aIieris SqaeH &

l16.

B o @ yhwe 1 S H § wEm g R |
HUT I : T Y T, agé@ﬂ%mma;ﬁq
‘Rho’ SR % 1Y STeTedrl €9 H S 8 | - P

111.

122;

113.

IwjaR el o wa B e e forehedl H 9 G

g : b
(1) WITATTIHRMMTTAT
@) wEISEAERIFALTAY .
@) USRI S T § J
@ YA AR BT A A § e |
frfafea & @ i1 T JfReRs ¢ 2

(1) FREm (2 e s
@ TEE @ TR

114. Which of the following is the c_gr_rg_ct_match ?

115.

116.

C1

Given below are two statements :
Statement I : The Indian Government has set up
GEAC, which will make decisions regarding the
validity of GM research. “~~

Statement I1 : Biopiracy is the term used to refer to
the use of bio-resources by native people.

In the light of the above statements, choose the correct
answer from the options given below :

'('1’)/ Statement I is true but Statement Il is false
(2)  Statement I is false but Statement I1is true
(3)  Both Statement I and Statement Il are true
4) Both Statement I and Statement II are false

Pollen grains remain preserved as fossils due to the

presence of :

(2) Tapetum

(1)  Epidermal layer
'(i)_ Exine layer (4)  Intinelayer
Identify the incorrect pair :
Sphenopsida - Adiantum
(2) Pteropsida - Dryopteris
(3)  Psilopsida - Psilotum ~~
(4) Lycopsida - Selaginella V*

A-a')/ Gymnosperms : Ced_rus Pinus, Sequoig

(2) Angiosperms : Wolffia, Eucalyptus,

. : Sequoia

(3)  Bryophytes Polytrichum,
Polysiphonia, Sphagnum

(4)  Pteridophytes :  Equisetumn, Ginkgo,
Adiantum

Given below are two statements regarding RNA
polymerase in prokaryotes.

Statement I : In prokaryotes, RNA polymerase is
capable of catalysing the process of elongation

during transcription.
Statement I1: RNA polymerase associate transiently
with “Rho’ factor to initiate transcription.

In the light of the above statements, choose the correct
answer from the options given below :

¥y~ Statementlis true but Statement I1 is false
(2)  Statement I is false but Statement Il is true
(3)  Both Statement I and Statement ITare true \
(4)  Both Statement I and Statement I are false

Which of the following is a nucleotide ?
mm acid ‘,_‘*

() Uridine
() Guanine @) Guanosine = =
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117, g 24 ' eI Ain
T el fera Aif - 117. Match List-T with Lt o L A
W“l L List-I Brinjal
A W . A Vexillary L ) A
A. éﬁ?{ﬁ R G| i N aestivation . ——
T B.  Epipetalous ’ B.
o ens -
TEEE TR L 9T s o Pea
. . c.  Epiphyllod
C. e W’{ m "X stamens v Lil C
g i 2
D. RS g v, faedft p.  Perigynous ¥
flower _
TEEtaalia Sl of F@ L ﬂﬁq : Choose the correct answer from the options given D
(1)  A-I,BJ,CIV,D-I below :
(@)  AJIL,BIV,C, DI %J’)/ A, B-J, G-IV, D-IL '
(@)  AJILBILCLDIV @ AJILBIV, C1,D-I =‘
@)  ALBLCIV, DI @ AILBILCLDIV ((
-1, B-1, G-IV, D-1I
118, -1 gER-11 & fem AT : @ A (‘
-1 - 118. Match List-I with List-I1:
A SRS [ g hE List-I List-II 122.
B Wi oL enEd A.  Chinarose L.  Freecentral ;
c s oI e B.  Mustard IL Basal
D, v R G Primrose M Axile ]
e farsedl B Wl SR 9T D.  Marigold IV.  Parietal (
(1)  AIV,BILCI,DI g:;gals.e the correct answer from the options given
2)  A-LBI,CIV,D-I
(1)  A-IV,B-II,C-II, D-I
(3) A-I,B-IV,C-I,D-IT >
@ AJILBIV,CI,DI ) @ ALBILCIV,DI
@ AJILBIV,CI,DI
119. Trfafed 9 ¥ wF, T afaeei § <@ fave & 4 AL B-IV,CI, DI
TR T € ?
(1) T R 1D ;’)\ile‘;zh of the Cif)llowing helps in maintenance of the p2o-
) ure gradient in sieve tubes ?
() e PR a i ve tubes ?
@ ) Albuminous cells
(2)  Sieve cells
@)  FEER SRR .
) ot )  Phloem parenchyma
120. T if¥rent & feirdm o ) ~gg W Companion cells
1 ; 5120, A
(1) TR gfeen v l Mesosome in a cell i a:
(2) T THA mRNA T O
Lkl ¥ 8 7 e ) @) hembrane bound vesicular structure
:; C ain of many rj g )
&) WW%W%MW@ ' g N3y mRNA, Y "oosomes attached toasingle
A 5
" W _
| @4 HZm SR 0T 11>ec1a1 structure formed 1, o
| : Plasma membrane Yy extension
4) :

medium «;
Um sizeq d‘romo‘some.



Ning:

1S given

ok geft-1 1 eil-11 @ G shifeg :
-1 gE-11

A wRfEFsE 1 ERA R
IR LT ¥

B.  uffer L S ) gk
el o wer
E2GIE

c foeRfaw I el & oo A
TR &

D. WEERA IV.  gehey, Tt
anfe & shifedn a0
ECEIEGIE

A & 7 fomredi § @ W@ s

(1)  A-ILB-I,CIV, D
@)  A-ILB-I,CL, DIV
(®)  A-LB-LCIV,DII
4  A-0B-LCI, DIV

122. G-I GEt-11 § GAfer Ao :

f the

123.

-1 G-I
A oTEfeRa: fdg 1 A fafean
ST Tl
B. S TH ®UM 0 & e
C TET e I UIeH uerEret
REERe HE T
D. 3UASETET V. Ry gRiveR -
H9 o3 T fasredl § ¥ W@ S MY :
(1)  A-I,B-I,C-IV, DI
@) A-LBICIV,DII
()  A-IV,BII,CLDII
4)  A-ILBIV,CI,D-II
i1 =1 geit-11 & gaferd 1o :
g1 G-I
A EIS®ime@@l L NADH
: RGNS
B. ErSHm@EdN I SRIHEDLC,
C  ETSHmReEIl DL §EsEC
- TSt
D ETSHEEEIV V.  WeRie
ERECIE IR
Hy fe?r T forenedl B 9 wEr W g :
(1)  A-IV,B-],C-ILD-Il
@  AJ1BIV,CI,DI
@)  A-ILBICIV, DIl
@  ALBICIV,DII

121, Match List-I with List-I1 :
List-I List-11
A Abscisic L Promotes
acid female -
flowers in
cucumber
B. Ethylene 1L Helps seeds to
’ withstand
desiccation
Lt Gibberellin 1. Helps in nutrient
mobilisation -
D.  Cytokinin IV.  Promotesbolting -
' in beet, cabbage etc.
Choose the correct answer from the options given
below :
(1) AL, B-II,C-IV, DI
2) AJILBI,CI,D-IV
Gy AL B CIV, DI
4)  A-ILB-I CII,D-IV
122. Match List-I with List-II :
List-I List-11
A.  Genetically L  Gene therapy
engineered Human
Insulin
B. GM Cotton. . E.coli
C. ADADeficiency. I Antigen-
antibody
interaction
D. ELISA IV. Bacillus
- thuringiensis

Choose the correct answer from the options given

below :
(1)  AJIBILCIV, DI
@  AJL,BLCIV,DI
(3)  A-IV,B-IIC,D-II
@' AJILBIV,C1, DI
123. Match List-I with List-1I :
List-I List-11
A. ETSComplexI L NADH
Dehydrogenase
B. ETSComplexIl . I.  Cytochrome bC,y
C. ETSComplexIll 1. Cytochrome
Coxidase
D. ETS ComplexIV V. Succinate
Dehydrogenase
Choose the corr t :
il ect answer from the options given
() AIV,BL,Cam, Dy
A-I/ B-IVI C‘H, D-m
8 AIL B, CIV, Dy

ALBILCIV,
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125, S N s S vage & faw § wa € ?

12
D) wertoron a5 e \
©) It 1 <fiferg i e feafa 3 @9 R
T qieyor
(@) TN ey

A SR YE, s gl S HEfTh
TR 3 C — C ) B A ) _
B, i v it weqel e wRER g A

GRS

C sigha o g aIe i SFE TR % SR
fopvar B ©

D. e AR o e Bl WY, S
¥ YR Y Suerean T Freft A ¥

E Yo HERA O, T Sl SR g8k SToefe
B Y vt o Fmior g @

T e T feedl § A W@ IR

(1) FaACDE (2 FHIAABE

(3) ¥e@A,BCE (4 9@B,CD,E

126. TR AHF A WE:

Y | FHRAEE (T Fshl) § Fxep | A
ST A U ITAH LS & T1e RIRRT 31K T T aiferdist
BRI

®UA I : FHAMEH F5eh § I& I et qF
R T T et st yfeest f-fa= 2t %
o el o Wl F A el foreedl @ Wt s
9T :

(1) I ¢ RY HoT 1] 9 ¥
() HUTIEA § WY RIATI T §
@) WIS w3 g §
@  wHI SR wI 1R s ¥
127, =11 elt-11 3 ifer #ifrg
eI elt-11
A feRm L oo e
S i e S
C TEifm I #Frewes el e
EiCiEd
D. ¥ MBS
ferver <
‘ﬁ%ﬁﬁﬂﬁﬁﬂﬁﬁ@‘ﬂﬁ'ﬁ?ﬁ: B
() ALV, B, CI1, DI
@) AILBIL,CIV, D11 |
®)  ALBILCIV D
@  ALBIV,C1 Dy

26

127,

124. Cry()presm v

125.

]Huv,‘ F

-vation technique is used for :

i fenvir ent.
Protection of environm

‘ iodiversi tspots.

o Protection of dexvcrsxty' hc : [H '

o Preservation of gametes in viable and feyy;
\W condition for along penod.

4) In-situ conservation.

Which of the following are correct about cellyf,,
hichn

ST 2 )
resplra(tjleo]l;u-lar respiration is the breaking of C — ¢

A. ponds of complex organic molecules by
xidation. o ) .

~B ’(;he entire cellular respiration takes place iy,
' itochondria. ‘

C Il\rilrmentation takes place under anaerobic

condition in germinating seeds: |
D.  Thefateof pyruvate formed dlfrmg glycalysis
. depends.on the type of organism also.
E Water is formed during respirationasa result
T o 0, acceptin&(;l/ectrons_angigcﬂng reduceds/

<

Choose the correct answer from the options given
below :

A,C,D,Eonly
A, B,C, Eonly

A, B, Eonly
B,C,D,Eonly

@

?3) )

_Given below are two statements :

-Statement I : In eukaryotes there are three RNA

- _ polymerases in the nucleus in addition to the RNA

~polymerase found in the organelles.

“Gtatement II : All the three RNA polymerases in

-eukaryotic nucleus have different roles.
In the light of the above statements, choose the correct

“~answer from the options given below :

(1)  Statement I is correct but Statement II is
incorrect

(2)  Statement I is incorrect but Statement II is
correct

(3‘)/ Both Statement I and Statement I are correct
(4)  Both Statement I and Statement II are

incorrect
Match List-I with List-II :
List-I List-IT
Histones L Loosely packed
& chromatin
ucleosome I Densely packed
; chromatin
Euchromatin I Positively
charged
basic i
Heterochromatin PR
V. DNA Wrapped
around histone
Choose the corr RSl
ect answ
below . er from the options given
(;) A1V, B-II, c. DI
Esg ﬁ"m/ B‘L C*IV, ’D-H
& am VD1

128

1%



130, gER- -1 gEi-11 § gaferd i :
-1

faarr&%
WW’@%@SWWW%@
m@aﬁmmﬁﬁmﬁmmm
mﬂ . Fpiferent TS ot IveTerce) 3 &g ShITTeh!
ﬂﬁm%m@ﬁ%WW@w
23 et 20 @ Bl SR ahe S ¥
WM%mﬁﬁ%ﬁﬁﬁmﬁauﬁw
g

1) FOF [ T § Y R 11 3 §

@ I STE § Y RN WA

@ Ul SR I e ¥

@ HIT 3R BT 11 AT 318 &

. AT TR % S YRS, foR Wrerel & 3T 9%
o & I ?

(1) TR (SEETEe)

@ FuE (STEE)

@ feog (fe=id™)

@ wEvg (FREM)

Tet-1I

A T gl L

131.

sfeg U 1L

Fiashsl oA IV,
foega
Ao T YT T B
it w1 g S Bl
¥

g firdy T Fereredll B @ E@ ST :

1) AJBICIV,DII ~

@  AJIV,B]CI, DI

(3) AJBI,CIHI, DIV

)  AJL,BII,CIV,D-I

mwaﬁfﬂm%ﬁﬁﬁa‘rﬁiﬁrﬁﬁwmﬂ

TS &1 3R ALl & | Frefafed § 9 B 9 5

T g I @l el 2
W =

P-O
6 ©© C-N
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1©

129,

130.

?"%&
N

f;_:ﬁ
&
<

.- Inthe ll},ht of the above statements, choose the correct

0
' @)
¥4, Both Statement I and Statement I are false

(1)  Diakinesis

(2)  Zygotene

(@)  Diplotene
Pachytene

Match List-I with List-11:

List-1 List-IT
Metacentric I.  Chromosomehasa
chromosome terminal centromere
Sub- I. Middle centromere
metacentric forming two equal
chromosomeé arms of

chromosome
Acrocentric M. Centromereis,
chromosome slﬂxﬂywﬁrqm
the middle of
chromosome*
resulting into two
unequal arms
D. Telocentric IV. Centromereis
chromosome situated close to its
end forming one
extremely short and
one very long arm

=
237
(@4 |

{one® %;

Given below are two statements :

Statement I : Failure of segregation of chromatids. -
during cell cycle resulting in the gain or loss.of wholg ‘}6
Sgt_O_f_ChrOﬂﬁom( in an oxgamsm is known as ~ >
aneuploidy. .

Statement I1 : Failure of cytokmesls after anaphase

stage of cell division results in thQ gam orlossofa . '
(hlomo‘»onu is called polypl(ndy '}(

answer from the options given below :

(1) Statement 1 is true but Statement I1is false
Statement I is false but Statement Il is true
Both Statement I and Statement Il are true

Recombination between homologous chromosomes
is completed by the end of : ) ‘

Choose the correct answer from the options given

below:

(1) AILB C1v,D-II

@ AIV,BLC, D-II

@) ALBICH, DIV
AL B-I, C-IV, D-1

Ligases is a class of enzymes responsible for
catalysing the linking together of two compounds.
Which of the following bonds is not catalysed by

it ?
\(po

()
©) C=N

(G=(C
C=0
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132, T W 3 [Hindix
' 'qg‘qran 28 hlq"i:u{ ; ‘Mé
En| S ST ) 1:$ W frafafea o @ ol | 132 F. Skoog observed that callus proliferated from W
ey e ; SR ¥ Ty fiverert 06 9 3 internodal segments of tobacco stem when dl_t“ 217
TS TNF % T ¥ iR 9d @S BN was supplied with one of the following except X Ea
mém%lag N CTH ] ‘ ) 36-
1 T wWe? 1) Extract of Vascular tissues 1 .
M) few sl w1 9@ ) Coconut milk CE
@ e gu oy Abscisic acid oAr
e
@) ustufes s 7 (4) YeastExtract e
@ IRTS =1
133. Givenbeloware SO?}Q@Mm»\% b
133. Y P " . regulators. '
ofis Frr! 3 forva & i g9 P A AT & . p a
A T GA ah SPREEEY A, AllGAsare acidic in nature. G
B. Fed, GA ¥ e e = B. Auxins are antagonists to GAs.)( ¢
Cc  fRfm o iEe g A 9w PA— C.  Zeatinwasisolated from coconut milk. (
D, uehfer, s i 7o @ SARE T D.  Ethylene induces flowering in Mango: o
£ et s s SR 6 e S E.  Abscisic acid induces parthenocarpy-
gl Choose the correct set of statements from the options
2 i foveel F @ W S given below
1) AGCD @ BE ' @ ACD @ BE
(3) A,B,C (4) B,D,E = (3) A,B, & . (4) B, D/ E
134, S RIERGE (faga @ T
g goer) & T H s1 134. Identif :
FY TS ? e s eleecllghf)}rfsi‘smw?mem related to gel | 18
s ; 138
(1) AT H U e )
;i b 7o faeRor | Separated DNA fr .
& Siqd 3@ Thd & | 13 secnder UV ta d;gﬁr(‘)‘re:‘ts can be directly
@ A H A F THY +J] @ se
RCh . - parated DN
fepan <11 Tl §1 ’ @‘IW piece. A can be eXtr_acted frqm gel
3
() T TS THE F S Few €| ()  Fragmentof DNA moves toward anode
4 G \ - ;
@ TRS éa‘mr T g AT ' 4  Sieving effect of agaro .
ST B & e e ¥ | 2 separation of DNA fragme,s\; gel helps in &
135, frefafed § & w9 135. Whi ‘
TH-ed, ST e . Which of the f
A ) Sevedted ollowi
T HIST ST o ST § 2 ney dhlo e cxamples show =
A : : es? ilocular ovary with many
et LR 4 ary with many
£ -.:_,=,)
C gy D : f_::) A Sesbania " 5
. GWIip e (@ : : Brinj :
E. 'qﬁm R Indlgofer a 4 3 jal %
? < | . 1
e et T forepey A T R = £ Asparagys Tobacco l
(1) FE@BIRE g R T : W) %Oose the correct
N =} oW : ans \
G) FaEA Bk ¥IC,DIRE [ W Wer from the ontions ¢ive" 1
BIRD () Sk o ptions gV
¥ L ©
) €, DandEonly

3
(6) A R 5D ouiy

R B ——

‘i&()/ A and C only H
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19 o1 : A AT T 2 S Seridifads % fg
&l 8 S foh wiafies v § e 31 e

AR TS | S ST ¥ v saverdt ¥
o 11 : AHIST F S, et a N oft
S B IR T ¥
s ol 3 Sed F A Rl A fereed A 9wl
s g :
(1) AT T R G WY 1 3 R
@ HUTI I ¥ WY HAqT [ T &
@) AT AR G 11 A v &
@ HITI AR FHY 1 v &

7. T A T B x-sifor R ¥2

RAZIE
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@
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@) FHdawd R

138, THAFF AL

oA 1 : fgaioTos ot & sreret Sesicrar 9 SUel e
1 gl B WH: A T B B |
w11 ; fgsiorash o=l &, srezrey feya Yfedeticmmn
ot RIS a1 ST Bl € Sl 7o SEaiek §9 d Th

139, Frefafed & S o€ 3T & & 2

s

TR & gu=R e g7t 81

Sy el % ded # A A T fashedi 7 @ W@
mgﬁq:

(1) YT T § R HIF I EA

@) WA TR HITN AR

() HUTI IR HIA A T E

@ weTI R A 3T §

| ST 3T
ISR

B.
D.

A TIfHen ST
C  uifafeen et
E  wEféas e
A fed 2 foreherdl H & Wt ST A :

(1) FeAC,DIARE (2) HhIcdASINB

Section - B (BIOLOGY : BOTANY)

1 e
36.  Given below are two statements :

l&mtcmcn( I:In the lac operon, the z gene codes for
f)cta»—gnIa(‘msndz\so which is primarily responsible
or the hydrolysis of lactose into galactose and
glucose. '
Statement 11 : In addition to lactose, glucose or
galactose can also induce lac operon.

In the light of the above statements, choose the correct
answer from the options given below :

M
@
S
O

Statement I is true but Statement 11 is false
Statement I is false but Statement Il is true
Both Statement I and Statement I1 are true
Both Statement I and Statement Il are false

137.  The part marked as‘x’ in the given figure is :

\(2)/ Thalamus

(4)  Mesocarp

Endosperm

M
@)

Given below are two statements :

Statement I : In a dicotyledonous leaf, the adaxial
epidermis generally bears more stomata than the
abaxial epidermis. X .

Statement I1 : In a dicotyledonous leaf, the adaxially

placed palisade ‘parenchyma is made up of
elongated cells, which are arranged vertically and
parallel to each other.

In the light of the above statements, choose the correct
answer from the options given below :

Endocarp

138.

3 ®IAADIRE (4) FIABARC

(1)  Statement I is true but Statement IL is false
Statement I is false but Statement Il is true
(3)  Both Statement I and Statement Il are true
(@)  Both Statement I and Statement Il are false
Which of the followjng are not fatty acids ?
A Glutamjcgéing B..«"Arachidonic acid
C. Palmiicacid ~ D. Lecithin¥”
E.  Asparticacidv
Choose the correct answer from the options given
below :
. (1) CDandEonly (9 A and B only
\(2()4 A,DandEonly (4) BandConly
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ey 5 #
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@) 0 g SR :
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g) aop S ST S 32 B @ 10000] e 101 (;)o ) J
_ ) O, @ N ADPH Ql- Which one of the followin e
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1) fen® : forad ®Ie L TR 2 . PH
I, s 1 wwway? | @ &IF
@E) fenz@em @ fEsn, gl : . Recombinant DNA mol
143, Frefafe PO @ fie ' nomally by cutting th olecule can_be
§ 39N 1, STHCE DNAT cutting e veetor DA createc
m ¢ T, W I ““especwel with: ’_,d_,_l\j—é' and £0
TR 8 i O, ) e L A sout
® :g@ﬁaﬁ fifire & sresAf | i @) HindIL EcoR1 % Ellad I AT
[ N 1 £ % . Whi i
@ A 5 ol 1 5 B T, of the following i dII, BamFH I
RECaU] i 4 ological . owing 15 ;
YR . g is n ;
3 U7 3R = P yramlds ? ot a limitati
F sl oft ST A A S T (1) Sapro : tation of
®) forgmr = Bt %Gﬁ -qa—,—';ﬁ ol Phytes e Hot o E t
T8 T T ! Y ological pyrami given a
@ el 1 WA - (2 Itass yramids. “~ ny place i
:;%’ 3 71 Sy Gt 'R/ @m el (6{1 nev;g: iesstsa_Simple food chai in
IR gafeg 39 o : I innatur ain, that
. Taftq It does n afood web
2152 T 3 Bt e b ot take int -
ARAT S ? 3ufierg Bt ot 144 eIOnging P o account th
(1) W e o , e - The Bt o ormore tr e same specie
@ g o fogi Bic toxin i ophic levels S
&G qF F il fmior e otton kills the n geneticall :
(3) Wa; éﬁ_'f ?-fa & (2) Creaﬁng popeSt by : y engineer d
“ EQ| d B pores in : e
145 ‘I;ﬁ I IR F 7= : . ®) d:magmg the resﬂfe midgut.
' ~I I GER-11 Y pH STt @) altge.n erating the piratory system
e 8, Mekhin the pH of body system
A o T List-1 with Li ody fluids.
. Frettee =i List-I List-II : 5=V
R SN b AL Organism R
C W In == i S 3 I'ist ‘ﬁf B -
N v . Wm A B, g‘_lglenoid, e deQ;f“ n ‘
v et AW C inoflagellate AL utriion ;
9 TRy o oo D. P mould T e sitic .
’ F g stiodivm . Phptgphyﬁc' \
. k | S oto
‘ Photosyy betwee
he osyntheti n
Ophic
oS mode




Q/

/!

df

w1 T S ) e A
@ Wﬁmmﬂ?ﬁmmww
aﬁm%wg},
&) Wﬁmﬁwaﬁmmmw
;ﬁmﬁmﬁm%@g@ﬁw
I .

@ S EE 997 YA H TS w S
mﬁmamwwﬁm%sﬁg@r
e 2

148. m@ﬂmﬁw@mm%ﬁﬁﬁwﬁm
FFT 91 § 99 I8 Frefafga gafa s s g
(@) i s ol T 91 @i
(b) gier o o o d

R 918 & SHIEgY i 9gaY |
1) TeRr : @ TRR
() TIRR ‘ @ TIRr e

149. -1 1 gEi-11 & GAfd Hifer :
get-1 it

A Safafayar g @E L

B. e IL

C  werger m

D fshefdiar V. OReE ER
ST

ey ey 7 ol # @ AR S I
(1) A-IV, B-I, C-II, D-III
‘ AL BT, C-IV, D-I
() A-LBIV,CILD-I
(4 A-mBLCIDIV

146,

147.

148.

149.

C1

Which of the followi i
; ing graphs de 5 offect of
substrate concentr: EROn Gt o ey

‘ ation on velocity of enzyme
catalysed reaction ? ’

vy’

Velocity of

Substrate

A § Substrate
concentration (S)

concentration (S)

3
g
>

©)

Velocity of

s

R
Velocity of
reaction (V)

Substrate >

S
concentration (S) ubstrate

concentration (S)
When will the population density increase, under
special conditions ?

When the number of :

(1)  deaths exceeds number of births and also
number of emigrants equals number of
immigrants.

(2)  births plus number of immigrants equals
number of deaths plus number of emigrants.

(3)  births plus number of emigrants is more than
the number of deaths plus number of
immigrants.

(4)  births plus number of immigrants is more
than the sum of number of deaths and number
of emigrants.

When a tall pea plant with round seeds was selfed,
it produced the progeny of :

(a) tall plants with round seeds and

(b) tall plants with wrinkled seeds.

Identify the genotype of the parent plant.

(1) TRr (@ TIRR
) TIRR 4 TIRr
Match List-I with List-II:
List-I List-II
A. Biodiversity Khasi and Jantia hills
hotspot in Meghalaya
B. Sacred grov: World Summit on
Sustainable
Development 2002
C. Johannesburg, 1 Parthenium
South Africa
D. Alienspecies V. Western Ghats

invasion
Choose the correct answer from the options given

below :

AV, B-L G-I, DI
@ ALBILCL, D1
@) ALBLV, I, D-II
@ AILBLCIH DIV

i A
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50 dentify the different stage
% TR fyy £ * o rvethegiver gurgylse(leechng the correct option 15%
Vgam RN AMau | fafr sremenell WS | 150- ed withalphabets AEiigiere “
W giqq Jo,+10 \
Atmosphere gj’:?“é:;;i\g
A(:i / e RTENE
R -
. ATP
ATP ATP.
; 5‘,‘, 2 \h\{wu A7
Tnose / \ ADl o P#NZDPJ’
P; +W\DP’ Sucrose, starch
oy starch ) A_Ca(ribo;ylatlon, B—Regeneratlon,
FEETeeH, B-gA: ST, C-3=a C-Reduction .
((12)) i AT, a@agmw C-q: AR @ A-Reduction, B-Decatbeiglation,
SR C-R eneration
®) A'mam B-at=, C-I: A-ng;boxylauon B-Reduction,
@) A-TTEH, e, G- SIS C-Regeneration is
o 4 A-Reduction, B-Carboxylation,
ST - A (m : ) @ C-Regeneration
151, e - 1 R - 11 3 e e 8 Section - A (BIOLOGY : ZOOLOGY)
el -1 -1 | 151, Match List-I with List-IX:
A T L g - List-I List-I1
- A Predator L - - Ophrys
B. I TR B. Mutualism IL Pisaster
c  weifim I AR W SR C.  Parasitism, DL ‘ Female wasp and fig
D. dfmwE V. Qe D.  Sexual IV.  Plasmodium
; ) deceit
E‘;:T 'aAEFG‘imI iﬁﬁ;;ﬂ B S:loose the correct answer from the options given
=i, AR oW .
@  AJIV,BLCI,DII 1) | AdI,BI,CJ, DIV
() AJLBILCIDIV (@  AJV,BJI,CI,D-II
@  AJILBIILCIV,DI 23) ::—11, B-III, C-I, D-IV
I, B-III, C-
152. G- 1% G - 11 % e g ) R ﬁV AL B, GV, DY
Telt-1 W= M R A with LT
- e [ ist- s
wiftr et feafer , R T YRR }= | Location of Joint T h::;? 2 |
A PTG L fred wfy wef= - A Jointbetween L G}l'ilc’lin Joint |
a; aﬁa qﬁq = h\ln\ems and ) o g]Olnt ‘
C. o™ T Uy b P eejoint. |
EiE Efgxa ¥ AL, T D ©  Jointbetween adl ?glln and Socketjoint
K . and axis ge joint
D. el Ffuwy v o S R ointbetween
et ol 9 fem T EFT T HRY - carpals V. Pivotj joint
(1)  A-ILBII,C- IV,DI } got)se the correct answe o
@' AJILBI,CILDIv N T ITom the options given
) ‘. ! (3) AL BIV, i C—]]I, D1 (2) IL B—III, C—IV' D-I
\ ‘ . (@ ALBILCILDIV ®) :Elé}n, CIDay
u (4) A‘n vV g C_m, D'H
-’ B—I’ C_m’ D-IV
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g S ¥ faw s fifeer wies s fa
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fre foremedl | RO S TR S w1 =9 B

® E-C—>B—-A->D

@ B-o>C->A—-E->D

)] A->E->B-oD-=C

@] BDE—->C—o>A—>D -

s R - 1S - 1L % e e R
ol -1 o - 11

A SHE®R L W FeR

B e I S eTgfd H EnEw
IEENE qfEd

c SHYER IO S o et E SR

. ety Iv. S iR ol A

W@@T ez

et ol & § WE SR Al = B

(1)  A-I,BI,CLD-IV —_—

@  AIV,BI,CII, DI

(3) A-LBI,CIILD-IV

4  A-I,B-IO,CIV,D-I iy

5, fom 3 g g e F @ fakrl e A | 195
156.
o Q wfre e oA oA € 7 -
A BRh- B. ABRA™ <
j€ ORK- D. ARh »
E ARn* ~
B oo Q) wd S 1 T
) FaaDTHE @ HIAD
el A T B @ FIACTD

C1
Followi :
lowing are the steps involved in action of toxin

in Bt. Cotton,

A The inactive toxin converted into active form
due to alkaline pH of gut of insect. - .

B. Bac'illus thuringiensis produce crystals with

) F(})uc insecticidal proteins. A~
(13. 'I‘he alkaline pH solubilises the crystalss”
i T he activated toxin binds to the surface of

midgut cells, creates pores and causes death

. of the insect. ' )

The toxin proteins exist as inactive protoxins
v

C.hoosc the correct sequence of steps from the options
given below :

in bacteria.

1) E-5C—o5B—>A-D
2 B->C->A-E->D
B A—-E-B->D->C

W BoSE-S>C—5A-D
Match List-I with List-11:

List-1 List-II
A.  Genepool L Stable within a
generation
B. Genetic . IL- . Changeingene
drift frequency by chance,
C Geneflow I  Transfer of genesinto or
outof population
D. Gene IV.  Total number of genes
frequency and their alleles v«

Choose the correct answer from the options given
below :

1)  AJILBI,CLDIV
@2f"  AJIV,BI,CIIL DI
@) ALBICILDIV
@  AJLBIICIV,DI

Which evolutionary phenomenonis depicted by the _
sketch given in figure ?

( o
) Artificial selection
(2) Genetic drift
(3)  Convergent evolution
¢4')/ Adaptive radiation :
i o ive the
A person with blood group 2 Rh~ canrecetve t
blgod transfusion from which of the following
es ? : B
ZP BRh™ B. ABRh .
o opn-W . DSBS
ARh* . :
léhoose the correct answer from the options given
below : -
nly @) only
1) pDandEo )
(3 AandBonly @ Can y
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““@ﬁiﬁ R ST~ ez e o
TR S e § e el A R
(1 TR
(3)) g @ StaSREERS
@a@mﬁ (4) r«mﬁﬁ
S8 R - 1 R - 1y % e e
‘f’ﬂl g -1
A e fE
B.  swifemaleR
C forfmewnmg I 6%
fomfor
D. EHHIH V. FEE
ELCIECE]
ﬁmﬁmﬁﬁﬂaﬁmmwaﬂ:
(1)  AAILBLCIV,DI
@ AILBLCILDIV
() AJILBLCIDIV
@ AILBILCIV,DI
159 F}ﬂ'-l%’l@-ll%m@ﬁaﬁ;
el -1 g -1
A SR E el w1 T AR
B, A e e L SEECHES o
C R TEEmEET L SRS
s
D URF TGN V. e e T
p ¥ie
fore foraredl R W STR 1 = ¢
(1)  AJIBIV,CI,DI
@  AJILBI,CLDIV
(3 ALBIICI,DIV
(4  A-IV,BII,CI,D-I
160. GERt - 1 G - 11 % W19 gaferd 1 :
‘i?"’f: K ger-m
iy L i TeehSt Tt
B. R ﬁl‘b‘ﬁﬁaﬂm
C  ofodRfE
D, T

157.

e P @ W@ S
AL B, C1V, DI
11

02

Hindi+e“g\igs, ‘

7 m
i cid
@

@

(€

(I

talyse the removal of groups frq
nzy ™ b a; caecl}:a ms other than hydroly:;
subs tratd bk bondS/ are known as:
1eav 8T ferases Oxidoreductases
8 e ydrogenases @y Lyese
~_Match List-1 with List-1L —
List-I
Stage of Prophase-I
Byent (Meiosis-)
Chiasmata ~ Pachytene
mation . o
f((:):ossing ov p.  Diakinesis
synaptonemal L Diplotene
complex formah%
Terminalisation; ., Zygotene
chiasmata ) .
Choose the correct answer from the options given
below '
A-I]I B, C-IV, D-II
AL B, C-IL DIV
@ ABLCIL DIV
@ ANBILCIV,D- 1
E atch List-1 with List-IL:
List-I List-II
Primary structure 1  Human
e of protein haemoglobin
T B Secondarystructure IL.  Disulphide bonds
¢ ofprotein |
G T?ruag structure DL Polypeptide chain
—s ofprotein
=D, Quaternary IV. Alpha helixand B
structure of protein sheet ’

Choose the correct answer from the options given

below :
A-]IL B'IV' C_u’ D‘I
(2) A—]I[, B.IL C'I, D—Iv
3  ALBILCI, DIV
4  AJV,BAI,CI, DI
1%(_) Match List-I with List-IT :
*& e " STEeIs
E: ~ Epinephrine @ 1 : List-II
ey e ’HYPergh’cem:a




77yt WT T SURT TR WA syfiregy ;
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areist SR s )
; Th
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@ i R frehem @
5 © > SIkchl HAH
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gy S ST RS Sl e et siawe
AN W R S )
" 0 el CST RISt e ot e g fors
e T WS AR 322 AT dewed &
yorarae TSR (tetR) s F uftera 87 ¥ :
1) Bam HI TF Sal I ©) Sal I Td Pst I
@ DstiTPvul (@) PvulT§BamHI

@ et - 1 1 el - 11 <6 ey giferd & :
el - e -1

(1)

A HigEES L ORI

B UEEARM I  #ReNSH
c aficsedis m feET
D. TERIeET V. sfFErEd

fie el § QW ST BT AT B _
(1) AJLBIV,CILD-II
@  AJBIICI,DIV

@) A-LBILCILDIV

@ = A-BILCIID-IV

1 9 e R T T U AR A BT
TWHTIR T |

AR A ; ST T 3 SR S aeT <ieed
e B %1 o
FT R ; o T WA § @ T A

T ) e 3 fere e e &, o
FfeTo] Thfer 21 STl @ | —
W%mﬁ%mﬁﬁﬂﬁmﬁﬁﬁmﬁ
ST 1 T H ¢ A,
() A S R 96 T E =)
Q) AW ETGR A E

0 ﬁA@fRaa%aﬁtR,Amatﬁw@w

35

C1
Which X :
the t :f ‘fh-( [()“,meﬁ statements is correct about
YPe of junction and their role in our body ?

(M

161,

{\(lhoring junctions facilitate the cells to
communicate with cach other, ¥

ey

I lgh‘tjunctioms help to stop substances from
leaking across a tissue. -

@) 1 lghl]ulﬁctnons help to perform cementing to
keep neighbouring cells together.

(4)  Gapjunctions help to create gap between the
cells and tissues.

1 N o ge
62.  Select the restriction endonuclease enzymes whose

restriction sites are present for the acycline
resistance (tet®) gene in the pBR322 cloning vector.

W~ BamHlandSall (2) Salland Pstl
@) PstlandPvul (4) Pvuland Bam HI

163. Match List-I with List-11.

List-I
Chondrichthyes, L
Cyclostomata: \1]

Osteichthyes 1.

List-II
Clarias
Carcharodon

n s »

Myxing

D.  Amphibig IV.  Ichthyophis

Choose the correct answer from the options given
below :

(1)  AJLBIV,CLDII
@  ALBILCI,DIV
&y’ AILLBILCLDIV
@ ALBI,CILDIV

Given below are two statements : One is labelled as
Assertion A and the other is labelled as Reason R.

Assertion A : During menstrual cycle, the ovulation
takes place approximately on 14t day..

164.

Reason R : Rapid secretion of LH in the middle of

menstrual cycle indu_c_gs_rﬂp—tluf/gf‘grﬁgfi@’ follicle
and thereby the release of gvum.

In the light of the above statements, choc_;se the most
appropriate answer from the options given below.
o

@

A is correctbutR is not correct.

A is not correct but R is correct.

Both A and Rare correctand Ris the correct

explanah'on of A.

Both A and R are correct
correct explanation of A.

put R is NOT the

@
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“mﬁfamq
Ty & e e - 1 gl - 11
‘E'ﬂl
A e - 11
B A - A O
e oL TR
G dEeEr N ol
D. & fieed V. e TR e
T forenedi o vl SR A -
(1) AL, BIV,CI,D-
(2 A, B-ILCIV, DI
(B)  AV,BII,CI,DI
@)  AIV,BI,CII, DI
166. T - 1 F G - 11 T AT F :
gl -1 -1
A SREdsmEfEEd L G
gfira Bl § 3R
TEREHE ! §
B dwudmpkddmy L G IEel
c  Ienuwt@ed¥ I Go¥eel
D. SR Sfwa mifweel V. STl
F g1Y Iq 3T
et ol @ W8 ST & W A
(1)  AdV,B,C-IIL DI
@ AJLBILCIV,D-I
@) AJLBLCIILDIV
@  AJLBIV,CLD-II
167. GeRt -1 G - 11 % W Faferd ol :
el -1 g -1
A, eferft et g L SAfaenor Tl
et TATET SR STeTE Tt
B. Wfeie Fgal % T | I o7 wrem
TR F 799 ¥ 3 forew & Mg
C. o7 i argafeata # I Heree faveE
Ferg 9 feren
W o F e
D. e Fl U Frpe: Falftm  1v. st e

am@ﬂga?ﬁﬁq@ﬁ

R @ & ;
ﬁmﬁ@aamm Y

(1)  AJBIV,CII, DI R, '
@)  AV,BLCIL DI "
@) AILBLCIDIV ™

@ A-LBIV,CILDI

E‘ll{:’,’\;[. P ' r“ﬂdw—
36 . \tatch List-I with List-II with respect to conyq, ol 169’
’ e\/oluﬁ‘:’_ﬂ ; List-II
List-1 L Flyin
a e I nyxmi;hal“ Ny
B BObcat./ W ’ S
é Ant eater ?‘I/ Tp"tted cuscus
: : irrels . asmanian
p. Flyingsd" tiger cat
’: o Choose the correct answer from the options give,
‘ below :
(1’)/ AL, BV, CIL D-I
e (2) A-m, B‘IL C1V, D1
~% @) ALV, B0, C- I, D-1
poeill ¢ TR 2 1v, B-1, G0, D-1
" fatch List-1 with List-IL.
TG Mat List-II
A Cellsare metabolically L G, phase
activeand proliferate
B. DNA replication ta I G, Phase
place
C.  Proteinsare synthesised G phase
D. Quiescent stage with M S phase
metabolically active cells
- Choose the correct answer from the options given
. below
@ AL, B-II, C-1IL, D-1
@ AJLBILCIV,DI
(@) AJIBLCHDIV
o AILBIV,CL DO
167.° Match List-I with List-II:
L
a2 List-I List-II
A.  Migratory flamingoes- 1 Interference
and resident fish in competition
South American lakes
B.  Abingdon tortoise I Competitive
became etinct after release
introduction of goats in
their habitat
NC ﬁsh‘gha;nlglus expands I Resource
istributional range in®]  Partitionin
C\ID ;he absence of Balanus i .
8 e Closely rela ope
" Species of Warbizd 0 V. Interspecific
) eedlngm e : competxtlon
X \ locations q on same tree
i ‘Ch 0se the correct an 0
‘below “SWer from the options give

l\‘
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eng 1r 591”
g -1 el - 11
| (gesha) (3FR)
er \ @127#3?9 L ﬁ?ﬁaa: a1
i S TGN, erqr wiem
¢ AT RIS W e -
en b RNTHTER . S 3
e ferpedl H W W S A1 o 1)
@ ALBILCIV,DI
@ ALBILCILDIV
g ALBILCI DIV
@ ALBIV,CI, DI
g ot - 1 3 G - 11 & W afed
g -1 -1I
A  E U L NN
g fe=m 0L ey
c FEg Ol Tilest SURTT
1 D. ¥ IV. GFR{Urehl z_:_:;
Frfrd AT IR TR L
() A-LBLCIV,D-II
@  A-IV,BICI,D-II
() AIV,BLCIID-I
@  AIV,B-I0,CID-II
m, ffr= yR T o 4 < % S SR SR Y
Tl - 1 1 gt - 11 ¥ W AT R :
get-1 gt - 11 LN
A derHEE L de -
. R g & {D
b om0 RS
T g &t
C mifRuedy M TS 2N
D g HeEw V. ﬁvﬂﬂa'@
- wEg#
| o @y o
. ()  Aq,BIV,CII, DI
2)  A-Iv,B-m,C-I, D-I i
A, B-I, C-1IT, D-IV LYy

B-IV, C-1, D-III

168,

169.

170.

C1

Mat
atch List-I with List-11 relating to microbes and

their products -

List-1
; List-1I

(Microbes) (Products)

A Streptococcus _ L Citric acid

B Trichoderma ST Clotbuster
polysporym

€. Monascus M. Cyclosporin A
purpureus -

D. Aspergillus niger  IV.  Statins

Choose the correct answer from the options given
below :

AL B-TI, C-IV, D-I
(2)  A-LB,CIL DIV
()  ALBILCI,DIV
4)  AJBIV,CI, DI
Match List-I with List-1I1.
List-I List-IT
A K ParticleV"i L Chromosomes
B.  Histones - Cilia
G Axonemeg - IIL Golgi appar:
D. Cisternae V.
Choose the correct answer from the .e/)_ (
below : o
(1)  AJLBY,CIV,DII 4
Wit
@7 AIV,B]CI, DI
@) AV,BLCIILDI Y
@  A-V,BILCL DI
Match List-I with List-II relating to examples of
various kind of IUDs and barrier :
List-I List-II
A Copperreleasing L =~ Vaults
IUD
B. Non-medica 1L Multiload 375
IUD ©
C.  Contracepti I LNG-20
barrier
D. Hormone IV. Lippesloop
releasing IUD
Choose the correct answer from the options given
below :
) AL B-IV, C-II, D-I
@ AL B-IIT, C-I, D-II
) A-II B-I, C-1II, D-IV
J{j AL BV, C-L D-II
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QA
EXe
:? L: mz;;a 3
Tashiay :
B[ F3) Yewrsirat 38
I I R
Rl m"ﬁ“&ﬁ WE e < . 71, Givenb
W ﬁ % Sl elow a
SR FRE EREEIN St,atement I: re two state .
s SOEN : ™ g micgobes th ; Al,qﬁbio i ments : i+English
.a; Q@Sﬁﬁﬁ atk tics a 2
TN B EaN Statem ill oth re ch
a Gk ER bod ent 11 : Antit er micro emicals 17"
) A f?’ﬁﬁa y thate L. ntibodi crobes. \/Produ
HA : el hatelumm dies ced b
@ —— ' s | € In the ligh ate mic 5 are cliatis y
) % : ghtof th robe mic
COE Afpa A : appropriate s abave s alsforen
(3) ) I TeTd % 1 TTed % b (1) answer f stateme ed in
« A =Y e wort 1 T | Statement I rom the 0;:5, chicesa s
1 ) a—'—'ﬁ HUA 1w A I 'Hﬁ % % | y l = (2) S:(:rre(:t' is correct bul::)r;S gjven beell'ﬂost
o 1 & I P atement 1 i tat ow.
= & e e 1L T € o o correct. nt 1 is incorrec ement II is
SR AT foret it =t Both St t but St
373' = E (4 atem atem
A el ¥ FrepTaH = ) Both ent]and ent I i
3 - : 3 ri % State State is
11N m 3941
C & correct ent I a ent1la
E- - m B. gnq _é".%.ﬂ 172. Arran ' nd Statem re correct
' WW D 1 glandge the follo ) entill 2
ﬁ-q ‘ m ’ trave P win are
fomet g g parts in ;
1) ek 'gg"[ Mamma route o ¢ huma ‘
)] D—>C—E ERICARERR] = < Mamim ryduct B g ejecrt;év[ ammary
N a T
€ C—E-B =t : E M ryalveok . Lactif )
) € A C ammary us D erou
4 —E-A >D hoose th tubul . Am s duct
) A-> -D e corr £ puna
173. = C—_)E"D—)B ect answ '
. o B i D—C er from the y
A & EcoR1 & 5 CHE RS A options giv
T @ o Y B en
5 #e 2 s e %2 e s TS
C T qﬁﬁqﬁﬁm%m%{m A=3iC A—->D-B
¢ mhm st SBD
N g‘;:;ﬁ@ FASTEH 5 oy ubfhePING,
fre LA T o C Cut the with bluntend
— EIEk: e DNA wi unte
: q9 R Aw nd
7Y el D ecogni ith sti
1) e T4 ; gnises ticky e
6 ¥ e 2k CHLGETRGLS palindion
A é (2) : E. E unters the tween th omic sequ
174. ﬁw ; i D m Ch xonucl e DNA ebaseG ence—
Fg @) A,D oose ease seque and A
E28 } EX b2 _ bel the c RLo nce‘GA when
A. W -qm m < B, C D Eﬁ"\( ow': orrect an ATTCI
C 7fyy ﬁ Sofeerd B ’ g::%1) B.C swer from g
N KED (e o SRR 3) A,(;EO“IY ” fiie options g
. ferer i D i 178, Whi ,C,Donly @ A e
e foeedl o : . TR ‘ C;Iclg‘ of the @’ B’D'Eonly r
© LR A, kroach ? following is/ _C,Donly
BWE I o Coll are
A @ $ : IR nd fem
%l B T % Pha Sthec N ale
4 G i ? u
4 HTAAT : Ry aoce ¢ gland . shroom gl
A TS optior the An gland
g pions given beo alstyle X
@ "\“‘glve‘“ belo appropri
(3) g dD R - riate ans
©)  Aonl only : wer from
y @ B the
‘ Aand Bl
k and C onl ﬁ |
4 y ' l




)

B - 11 % e gAferd s
g THITER 175, MatchListpn . c1
With List-Iy
et -1 - g : :
-— List-] .
3o 3T L 3EE & TS . ListT1
A 7 = d Mallgnant tumors 1. Destroy tumors
B wWTwd L Tgd . B. MALT~ - L ADS
c wuda m  Heefew NALO)\m. . Metastasis
- D. » ;
D oSeTRH IV. O Sdd C oclnterferons VIV, Lymphoid tissue
: . E hoose tI . .
e fel F Q TE ST WA Y : =2 below? € correct answer from the options given
@ AILBIV, CII, DI \éf)/ A, BV, C-1, DI
@ AIVBILCI D-1 (?  AIV,BILCO, D
@ AMBIV,CLDI ()  AJILBIV,CI,D-I
@ AILBL CIV,D-I (4) A, B, CIV,D-I
176. T et o o W Sufeerd AAR? 176. Open Clrculatory system is presentin: 2ol
. 1 Palaemon, N A’VW\
) I, 30, Sehraad M ,@ras Balanoglossus
% Hirudinaria, Bom@f,@ Rl O.Qu "’

@ Sefeafan, aifve, Je
@ g, aEde, gt
@ e FEEH] e

W Anopiles, Lmﬁx{ Limulus \V/ (Q?’)A

()  Pheretfma, Musca, Pila

177. In which of the following connective tissues, the

177. Ty 93t Sl 4, feg o aﬁf‘gﬁ;ﬁ DO 1 TANLA cells secrete fibres of collagen or elastin?
% dq Eford A & 2 A.  Cartilage B. Bone C. Adiposetissue.
A Ui B. g C oESh D. Blood)  E. Areolartissue
TR Sk Choose the most appropriate answer from the
v = options given below :
Fre el A e o S 1 < (1) B,C DandEonly

(1) ¥9dB,C,DTIE

(z)/ A, B,Cand Eonly

() 9dA,BCTE () B,CandDonly

@) % B, C D @ A CandDonly
178. Which of the following pairs is an incorrect |

match ?

4 FTAACTED

lls dfirg w—qﬁ | | - Bilateral
78. ﬁq@ﬂﬁaﬁam ?? 1) Annelids and arﬁhropods ila
| ‘ wafafa symmetry
% qz :“l : @) Sponges - Acoelomates . |

» ‘ -g-qﬁqfﬁ - Radia

4 ml el ;—z FHRR-3T €) Coelenterates and Ctenophores
' symmetry N

: i : k i iploblastic organisation
X \(A’)/ Platyhelmmmej-Dxplo pastie ot

) e EE



[re
D.

1
1
o w I ‘F’ﬁ 40
SR L
A, Wﬂ e
ST 1 ERLCEAERERN %R AY
1 o aiftyeha ST S
B ¥ iq venfi @1 A &
S R b A Al
siqvanad Al foy.yenfd oy
’ T ST
C Fovaws gmar m 909 6 I
el H o @ A TG
=1 STRIAT .
D. Soim e v, e s ¥ Wi
f.yarfad g I Pt SR
T Tl @ wal S 99 ETUN
(1) A-V,B-IL CIL DI
(@  ALBIV,CLD-I
()  A-I,BL,CIV,D-I
(@) A-BI,CILDIV
180. qa't-lﬁqa'i-n%wxqﬁﬁwamﬁ 3
-1 -1
A Shfad sherd L AN TR
B. TEUH Y o ey afRie
C. eyeRnt e I UHST |
D.  YESEI v. afaRar
foret el @ WE SR 1 T B :
(1)  AJV,BIICI, DI
(2 A-V,BICII, DI
()  A-V,BII,CID-I
@  A-ILBIV,CID-I
181, Gl -1 Got - 11 % ey e o)«
s et 11
A EEEREE L e
B. fofes+a T
¢ mrql‘lv I e syreror
D. agg—qﬂ-q W gﬁz —
ot foreneddi 3
3 9l IR o
(l) A—]]I, B.I, C'IV, D‘H m .
@ A-LBIV,CI1, D
(3) A-lV, B-III, CII, DI
@  AJILBILCI DIy
182. E@fﬁggwgmwmm%?
1) IRTERTA! 5 X Frary
ek e ) 'x“‘f'“""‘?lﬂﬁ%nq
(2) W%W%Q@m ‘k:*}
» (3) arm TI&'JT'QT a; @@ﬂ:‘rwu } .Nov
@ e w R L
" A

below :

M
-

179. Match L.ist-l with List-1I: e
L.ISH I Maximum, volume of air
A Residual : that can be breathed in
Nk 7 after forced expiration
air inspired or
p. Vital Capa% 1L ZXOQ;T:E :j);ring ngrma]
respiration ’ o
- i  Volume of air remaining
“ ?j);};:zitt(;ry s in lungs after forcible
expiration - )
D. TidalVolume 1IV. Totalvolumeofair expired
after normal inspxrahf)n
Choose the correct answer from the options given
below :
1)  AJV,BI,CIL DI
@  AILBIV,CI DI
A-II1, B-I, C-IV, D-II
@  ALBILCIILDIV
180. Match List-1 with List-II :
List-I List-II
A.  Living Fossil L Elongated canine
teeth
- B. ConnectingLink _II.  Vermiform
- appendix
G Vestigial Orgén 1L Echidna
D. Atavism IV. Latimeria
Choose the correct answer from the options given
below :
A-IV,B-II, C-I, D-I
(2  A-IV,BI,C-I,D-I
3)  A-IV,BII,C-L D-IT
4) A-ILBIV,CLD-II
181. Match List-I with List-II:
List-I List-11
A.  Schwanncells ~7L -~ Neurotransmitter
[ B. Synaptic knoby’ 7711 Cerebral,cortex
o\ C.  Bipolar neuro IL  Myelin sheath
D.  Multipolar Rétina
"B neurons

Choose the correct answer from the options given

@ AJIILBILCIV, DI

) @ ALBIV,CI, DI

= ®) AIV,BICI,DI

4)  AJLBIO,CL DIV

182, Diuresis js prevented by:
(1)  Renin from JG cells via switching off the

osmoreceptors
ANF from atria of the heart

A

A @
w Aldgster_c@om adrenal medulla
. Vasopressin from Neurohypophysis
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153. 18
o R AT T i 3. Following is c1
A G{W‘TQ B. <rfres ufead which are n;)tll‘u list of STDs. el .
A ) \—ﬂ%tely C\lrwbi slect the diseases
& ﬁTﬁﬁm D. Tha-st N Genital warts ) B e
" Zﬁ'&h’m r' Syphilis ¢ Genital herp'es A
’ S E, o D. Hepatitis
e el 1 @ W IR AT = Cho Trichomoniasis RERESEs
: 0se the
@ ¥F@ATD @ FWMBWD R e e
@ FaAATC @ HFEDTE ()  AandDonly & B
(©) Aeand and D only
&
oo, e O ¥ (qEA A ) Hed w1 w@ only (4 DandEont
ﬁ“ﬂ%" 184, Whatis th ’
? is the correct ord
Paleozsi order (old to recent > .
§) W,%@Wﬂﬁq% IR ©)) W:: era? to recent) of periods in
ilurian, D : ;
@ W, 4 , ofEfer \(2)/' Siluria Devoman’ Permian, Carboniferous
n, Devoni .
| @) o, feait e, ngﬁﬂ &, PR & eomianDe onian, Carboniferous, Perm‘ia:\/%
, Devonian, Silurian, Carbonift
@ Wa@ﬁmvﬁﬂﬁﬁrﬁm @  Siluri . ' e
urian, Carboniferous, Permian, Devonian
165, &A@ W 7@ A 185. “Lub’ sound
: of Heart is caused b;
ythe .
(1) FHEEERFIC Faga (1) closure of the semilunar v
¥)] Frae @ ot HR| 6 q&ﬁ (2)  opening of tricuspid and bicuspid valves
@) SRR ST S g g/ opening of the semilunar valves
4 ; L
@) Fraert w& foaert T F A closure'of th/e t:'lcuspld and bicuspid valves v
ST - B ( STafer : W) Section - B (BIOLOGY : ZOOLOGY)
186. T % ol ST § Halfd “+|1186. Match List-I wi
-1 . 156. atch List-1 with List-II relati uman
T gafed w1 : Tl -1 -0 F external genitalia : S R
et -1 g -1 | List-I List-l
P2 (W) (=eroT) ' (Structures) (Features)
TR L T E e 9o A Monspubis L Afleshyfoldof tissue
. S AR AR m' s surrounding the
B. WRW® I 5 o (el vaginal opening
) == SR S N Tw@ St B. Clitoris 0.  Fatty cushion of cells .
2 @i i covered by skin and halr
D C. Hymen N [  Tiny finger-like structure
é: : above labia minora
i D Labi Ny, Athinmenbranelie
majora structure covering
vaginal opening

T T ¥
ALBILCIV,DI

e | ‘
et et @ W ST
0 ;

Choose the correct answer from the options given

below :
AL B G-IV, D1
2 ATV, B-IL 1, DI
3) AL BV, -1, -1
AL BIL CI, DIV

@




inov
S [Findi+English] Iﬂ}o
5 mﬁ’lﬂ] W‘:ﬁ? 5 = loidy is a chromosomal disorder where 190
Hﬁwﬂ o . Kl 4 SosiE S is not the exact copy of its
\ ¥ € e W bl chromosome number is no :
B R TORE % enpfird A< =l A haploid set of chromosomes, due to:
A yRw | A, Substitution B.  Addition
| B . [ C Deletion D. Translocation
B " g Inversion
- -~ Choose the most appropriate answer from the
et Foremel 3 9 ey afrer oo 1 9 -  options given below :
3 ; e
1) FS@WCwWD @ FMDTE : (1) CandDonly @) DandEonly
; . o
@ ¥wAwE (@ F@BTC ~. (3 AandBonly @) BandConly
188, A Qe AR : 188. Given below are two statements :
ot 1 : ol el ot H TR e Statement I: RNA interference takes place in all o
P gean 7 faf ¥ Eukaryotic organisms ;as method of cellular defense.
f .. - . f a
U 10 : | T IR W T Statement 1I : RNAi involves the silencing of &

stranded RNA molecyle that binds and prevents

1 A ¥ e Fro T fafre T SR T T - translation'of mRNA isepa

A prreiidl In the light of the above statements, choose the correct
I fg g e 3 e ERRGEAS answer from the options given below.
T

g (1)  StatementIis true but Statement 11 is false.
(1) e | 9 § A HI I A T

Q) I A ¢ Ao YT 1 T T
@) S wAAI IRHITI TA T

(2)  Statement I s false but Statement Il is true.

~ (3 Both Statement I and Statement Il are true.

(4)  Both Statement I and Statement II are false.
@ <FiHmIT IR G A T |

189. TIeid YA I TG : Td Identify the wrong statements :

A TR o FY SRETETEe HiRenEl A.  Erythropoietin_ is produced by

juxtaglomerular cells of the kidney *»~

BT S Beft &
. " B.  Leydigcells produce Androgens
e Hemnd G Seatfed st & | i .
5 e - |7=1 €  Atrial Natriuretic factor, a peptide hormone
h . s QEWH Afgtfess e ool S is secreted by the seminiferous tubules of the
1 ST e Ry S B | bl s ‘X’
D. WHIfAaRERR S sz vy TR S . D. Cholecystokinin is produced by ¢astro -
: ; _:) P Yy &
T Ly e intestinal tract N
-

E fgd e fwﬁmmﬁm%aﬁhm = E.  Gastrin acts on intestinal wall and hfg?in

iy 3 L the production of pepsinogen
3 3 ‘ \ A
et fort @mmﬁ?ﬂm%@‘ ‘ Chc?ose the most appropriate answer from the
o ‘ i options givenbelow:
%I D T E )  FEAA T :
) () DandEonly Y (2 AandBonly R

() FAACTEE @

' CandEonly (4 AandConly




5 Engieh]

190

19

192,

43

‘ﬁ;ﬁmaﬁmﬁﬁﬂwiﬂﬁ%l
.A. .

p e (~1 faferEr T

c v fafsmanT :

b Taq el T iRl % W

ELEL
E W

mﬁm@ﬁﬁﬁﬁm%a@ﬁ%qﬁww
oA & -

M C_.)A—->D—>E—>B
@ A-B-E-DoC
@ A-C-E-DOD
@ D-sBsE-C—oA

L RATRRATE:
Wi:mtﬁmﬁgﬁmmﬁm*m
farftfa g B
o 11 SR Fraate e 3 SiavehTelt H TR
FEOTAT ST T § e F |
SR e T el 3 v ot forehedl H W wE@
foa SWHT TgT R :

(1) wIT [ GE ¥ AT HYT [ T B |
@ &Y T § Al R I W T
@) <A %Y I T R I 9 ¥
@ < HYTI T R TG E |

g FA AT

HY | : eS| AAG % $S Fudh % U Tohigd §9
ﬁm@%%mﬁﬁrﬁwm g o aftge
U sraet grn iR wae g 8 1 L
HI 11 : 950 W WA fg P & Hrem A v oSt
% 3 ¥ wUARE AR

ST & TG ot % e F P frmedi @ Wl v |

FTFH] ;-

WY 1§ § G RAT 11 319 ¥
I | A § T HAT 11 T T
T He | TE U 11 T |

Al o 1 e WU T S €|

190,

- 191.

192.

l*'nllo\.»\v'in;;v are (} .

PCR 4 ¢ steps involved in the process of

A, /\nnmiinpr v

B. Amplification (~1 billion times)

C. Denaturatjon \/

D, Treatment with Taq polymerase and
deoxynucleotides ’

L. Fixtension

Choose the correct sequence of steps of PCR from
the options given below :

CoA=-D-SESB

2 A-BoSESD-SC
B A->CoE-DSB
4 D-oB-oE-SCoA

Given below are two statements :

Statement I: Concentrated urine is formed due to
counter current mechanism in nephron. 7

Statement II : Counter current mechanism helps to
maintain osmotic gradient in the medullary
interstitium.

In the light of the above statements, choose the most
appropriate answer from the options given below.

@)

Statement I is correct but Statement II is
incorrect.

(2)  Statement I is incorrect but Statement IL is
correct.

(3)  Both Statement [and Statement Il are correct.

(4 Both Statement I and Statement II are

incorrect.

Given below are two statements :

Statement I : Concentrically arranged cisterna

Golgi complex are arranged near the nucleus ¥

distinct convex cis or maturing and concave

forming face. 5

Statement I1: A number of pro dified in

the_cisternae of Gg_lgj'comp]@_(_\ ore they, are

released from cis face. «
- —

In the light of the above statements, choose the correct

answer from the options given below.

Statement I is true but Statement Il is false.

teins are modifiedin

1)
2) Statement 1 is false l})ut Statement 11 is true.
(3) Both Statement I and Gtatement Il are true.

Both Statement I and Statement Il are false.,

-

v’
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1
93, W s w
103 e iferm R -
T -y i
A oy L o o e P
el )
B ww L sickml ¥ a- e
QDS .
C Pegw o i s ufed
D ¥R V. TSl g o e
fore foremedl § QY wd R B T B :
(1)  AJI,BIV,CL DI
(@  A-LBIV,CIL DI
@) AJILBILCIV,DI
@  AJILBIV,CIDI

194 ﬁ%ﬁwﬁﬁnﬁ%:@aﬁWAka
2l 4
WA:WW?WﬁWW?
TS T At R wﬁwt@mﬁuﬂaw

el Trede § Rafdd & S 1

mn:mwwmﬁwwm

TS T B |

s fm e e 3 e Fre ol F Wl I

1 I B

(1) ATEEAEAR WAL

@ AIEIATTIR AT

® gﬁA@Rw%@&Awu@m
[

@ 2FiA TR EIEAFR, A F 9L WG
T € —

195. mwﬁmaﬁm,ﬁm’mm@;ﬁméﬂié
ﬁﬂivﬂaﬁ?@wiﬂﬁ7 s“ ;:aij._

A. IATA | 1Bi | Bj - B.
C. IB[IAJA|IAE
E  IAi|1Bj|1Ai

TATA 1B | 1A
TATA | IBIB| 1A}

ot foreret & 9wt e o w0
) cw@WDp ' @ DpwA
! e @ BWE |
il

Hin¢
(i Engie| o
44193. Match List-1 with List-11:
List-I List-11
A. Parturition L Several antibodies for

194.

new - born babies -

B Placenta 1L Collection of ovum after

ovulation
c.  Colostrum I Foetal ejection T eflex.
D. Fimbriae IV. Secretion of the
hormone hC!

Choose the correct answer from the options gIven
below : ’

wf

AL, B-1V, C-1, D-IT

@ ALBIV,CI,DII
@) AILBILCIV,DI
@)  AJILBIV,CILDI

Given below are two statements : Oneis labelled as
Assertion A and the other is labelled as Reason R.

Assertion A : Members of subphylym vertebrata
possess notochord durin the embryoni iocThe
notdchord is replaced by a cartilaginous or bony
vertebral column in the_a(—:l’i_';lz’$a -

Reason R : Thus all chordates are vertebrates but
not all vertebrates are chordates.

In the light of the above statements, choose the correct
answer from the options given below.

7 AistruebutR is false.

(2) Adisfalsebut Ris true.

(3 Both A and R are true and R is the correct
explanation of A.

(4  Both AandRare true but R is NOT the correct

explanation of A.

The mother has A+ blood group, the father has
B+ and the child is A+., What can be the possible .
genotypes of f\/ll three, respectively ?

- v

A TAAB R B
C. IBi|IAIA|IAIB D.
E. TA|IR|TAY

v
TATA | 181 | 1A

IATA | IBIB | 1Af.

Choose the correct answer from the options given
below :

M
®)

Cand D
Aand B

2 DandA

W' BandE
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196.

q(t) —>

1o SRR e ST SrIfRad fs <R Wi

2 qﬁm%aﬁﬁﬁﬁﬁm%ﬂﬁi b e

ofg v s 3 W F T A
frefm H B |

| it 3t e SR g = Wi
qﬁmﬁaﬁﬁaﬁam%wh’wﬁqﬁ@
o et gt R i e & e
FEEI -

’a’aﬁmﬁ'{aﬁﬁm
ofig @ w3
o SR 95 w7 SR TG 1 T
=& et & @ R e @ AR b T
e 1 feem ¥

@

2 oin p iR

. < R A

@

197. &sﬁm@ﬁaﬁaﬁmﬁmwﬁ:

196,

C1

What do ‘a’
0O 'a ¢ o . )
populati a and ‘b’ represent in the following,
I on growth curve ?

Population

Time (t) —>

\(flf)/{’a’ represents exponential growth when
responses are not limiting the growth; and .
‘I represents logistic growth when responses
are limiting the growth. . —~ T
(2)  ‘a represents logistic growth when responses
are not limiting the growth; ‘b’ represents
exponential growth when responses are
limiting the growth.

‘a’ represents carrying capacity and b
shows logistic growth when responses are
limiting the growth.

@)

‘a’ represents exponential growth when
responses are not limiting the growthand ‘b’
shows carrying capacity.

@

A THE ARY W G T F G = g o¥a | 197 Select the correct s?atements regarding mechanism..
= of muscle contraction. w
o1 BT Bl € e emnee ' |

<ifep1 ST SR £ = A, It is initiated by a signal sent by CNS via
B 3 [EREES '@: sensory neuron. %;1

) ~;=‘"‘ B.  Neurotransmitter generates action potential
C Ca*t ®RH 9fg § Ffeaam e ‘d@af( %,Ez in the sarcolemma.

i 9 s S g1 (alp ] C. Increased Ca*™* level Jeads to the binding of

garri i i i tin filaments.
calcium with troponin onac

D. m%mmwmmmﬁ . 2

B S B | D. Masking qf_ a;hve site foractiniscessSat

e Utilising the energy from

S L T i T TG form cross bridge. v

T H I Bl ¥ R

Choose the most appropnate ans
et et O O v sfera ST 31 99 & ¢ options given below : k
nly 0
i . 2 G pDandE© )
(1) %o@B,CTE (2 %aadCDUTIE .MB,CandEonly ( "
‘ fd* AandDonly'N @ B,DandE© zﬁ
(@) HIAATID @ FIO (31)50 §
W Q,Q v mo
«‘f‘" w® o
Q> N‘\%,‘W ‘,’}M v
‘\ j? ——







